;> restart
> Ecua = (2-x + .’rxz-y(x)2 + 12-x-y(x)3) + (2-x3-y(x) + 18-962-3/(x)2 — 15-y(x)2) -diﬂ(y(x
).x)=0
FEcua=2x+3 xzy(x)2 +12 xy(x)3 + (2 x3y(x) + 18 xzy(x)2 —15 y(x)z) (% y(x)) =0 €))

;> with(DEtools) :
> odeadvisor(Ecua)

| [ exact, rational] )
> M:= 2x+3x2y2+ 12xy3
i M:=3x2y2+12xy3+2x A3
> N:= 2x3y-|- 18x2y2— 15y2
i N:=2xy+18x%)" — 15,7 @)
> Comprobar = diff (M, y) — diff (N, x) =0
i Comprobar :=0=0 &)
_> IMx = int(M, x)
i IMx =% y2 +6 )czy3 + i (6)
> SolucionGeneral = IMx +int( (N —diff (IMx, y)),y)=_CI
i SolucionGeneral := x° y2 +6x° y3 -5 y3 +x° = ClI @)
_> INy = int(N, y)
i INy :=x3y2—|-6xzy3—5y3 (t))
(> SolGral == INy + int((M — diff (INv,x)),x) =_CI
i SolGral =x° y2 +6 xzy3 -5 y3 +x = (I )
;> restart
> Ecua = I +( T xz)
sqrt(x” + y(x)?) x o yx) sqrt(x” +y(x)7)  Y(x) p(x)

Eewam—>— 4L 4L 4 r(x) T x2 (iy(X))=0 10)
e W C T

;> with(DEtools) :

> odeadvisor(Ecua)

| [ exact] a1
>M=—2 4141
I X y
M=—2 141 12)
| xz—l-y2 x Y
S N=_ Y 1 _x
2,2y 2
X +y y
e 3)
)cz-l-y2 Y y

> IMx == int(M, x)



IMx = ¥ —I—y2 + In(x) —I—i

B SolucionGeneral := IMx + int( (N — diff (IMx, y)),y) = _CI
SolucionGeneral .=/ X -|-y2 +1In(x) + i +In(y) = _CI

;> restart
> Ecuacion = 2-y + 3~x'y2 —|—4')c2~y3 + (x +2-x2~y + 3~x3~y2) y'=0

Ecuacion =2 y(x) —i—3xy(x)2 -|—4x2y(x)3 + (x +2x2y(x) +3x3y(x)2) (% y(x)) =0

;> with(DEtools) :

> odeadvisor( Ecuacion)

i [ [ _homogeneous, class G, rational]
> FI = intfactor( Ecuacion)

i Fl:=x

> Ecua := expand(FI- (Ecuacion))

_ 2 2 3 3 d 2 d 3
Ecua:=2xy(x) +3x y(x)"+4x y(x)” + (Ey(x)) X +2 (Ey(x)) X y(x)
d
dx y

_> odeadvisor(Ecua)

4

+3 (4o ] ¥y?=0

[[ _homogeneous, class G, exact, rational]

> M==2xy—i—3x2yz—l—4x3y3
i M:=4x3y3+3x2y2+2xy
> Ni=x"+2 x3y—|-3x4y2
i N:=3x4y2-1-2)63)/—|-x2
_> Imx == int(M, x)
i Imx:=x4y3+x3y2+x2y
(> SolGral = Imx + int( (N — diff (Imx, y)),y) = _CI
SolGral = )c4y3 +x y2 +x2y = ClI

>
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